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Instructions for the candidates :

e —— =

Candidates are required to give thewr answecrs: av-

practicable. _
2. Wmmﬁw%ﬁﬂwwﬂ&rﬁﬁ@m%/

Figures.in the right hand margin indicate full marks.
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T &

15 minutes of extra time have been allotted for the candidates to read the questions
carefully.

4. WW#@@:#?—@?—WQ#@@W-

T'his question paper is divided into two sections — Section-A and Section-B.
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@gug - 3 / SECTION - A

aﬁﬁ'ﬁ' W97 / Objective Type Questions
T §eqr 18 42 7% & A% 99T & Wiy 9 fa%weq 37 70 forad & v @@t 21

mm?”"ﬁﬂﬁﬁm#vﬁzw%@aﬁﬁlﬁﬁ?wwﬁwm%t

35 x1 =35

Question Nos. 1 to 42 have four options, out of which only one is correct. You have to

mark your selected option, on the OMR-Sheet. Answér any 35 questions. 35x1=35

Tt oft atffeer § soRe
'_(A) HATH(SHAT a7 A HXl &
B) Wéﬂ;ﬁm%
D) T ¥ s Tl

In any reaction, catalyst '
(A) retards the rate of reaction
(B) increases the rate of reaction

(C)  both increases and decreases the rate of reaction

F ' - | (D) Br
Which one of the following hologens is the strongest oxidising agent ?
A1 L (B) . Cl

o F D)  Br
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0-632 - 0683

0-863 0-10
t1 for the first order reaétion 1S
2

0-632 0-683
(A) k - | (B) K

' 0-863 ' ' 0-10

(©) > U

A ST 3K del WpRa &

| (/“ﬂfff3“”¥“‘ i - B) I

(C)  TRE (D) T | HIs T@I ‘
White and yellow phosphorus are * o '
(A)  Allotropes ' (B) Isotopes
(C) Isobars (D) none of these

_/Effjfﬁﬁﬁ%ﬁﬁﬂ”ﬁﬂﬁffFrHﬁjaﬂﬁifTBﬁﬁﬁﬁq{ﬁﬂfagéh$?éﬂTﬂﬁ?ﬂé*Eﬂfﬂ%f?

(A) Fe | | | (B) Zn
©y~ Cu (D) Mg
f Whi(;h of the following metals does not liberate hydrogen gas on reaction wjth
acid ?
e ) Fe . B) 2Zn
€) Cu D) Mg
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N O’OH . 1 - @
OH * - OH
- E/VLOH A0} @
I[dentify phenol from the following : o
A O/OH _ m &
(C) O:OH , - : D) @ -

OH |
A)  ISRHUIE - B FICRAUIE
(C)  SECTohIehTUT . (D) T ¥ &g Tl
Chemical adsorption reaction 1s ‘
(A) reversible (B) irreversible
(C)  polymerisation - (D). none of these

'8, THREAT N, + 3H, @ 2NH, + Qcals # 1 9gH W

D) 9§ Hig &l

In the reaction I.N2 4 3H2 = 2NH3 + Q’CalS 5 1f température increases, then
(A)  formation of NH, increases

(B) formation of NH, decreases

(C)  no effect on the formation of ammonia

(D) none of these
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9.~ CONH, J7 @1 el Tl 4

(A)  UHTET g9 B) OHAT T
)z S pf FAEA THMA

- CONH,, group 18 known as

(A) Amido group

(C) [mino group (D) Carbyl amine€ -
0. TS R el I FEdAiE H & A &,
(A} T ArgHvEed ge FH @ B) @I dd FHE
C) @l I SR E p) @R & el €
The boiling point of water decreases at high mountains because
(A) atmospheric pressure is low (B) temperature is low
(C) pressure is high (D) more‘ajr
fﬁ,]/r/ﬁr:{ o 9 i fodied M99 F1 g E ?
_AK]  CH,OCH, ~ (B) CH,COCH,
(C)  C,H;OCH, (D) C,H.COCH,

- Which of the following is a formula of methoxy methane ?

(A)  CH,OCH, ' (B) CH,COCH,
, (C) C,H.OCH, (D)  C,H.COCH,
12 T # G T fevea pume I 9@ A E 2
(A AT o HTe _ (B) GIH &1 IS oy
C) TERH . D) FHRH

Tyndall effect is not found in

(A sugar solution B - .
) _ (B)  colloidal SOIUUOn of gold

(C) suspension (D)  emulsion




M >C=0 (B) - CHO

(C) - COOH . (D) -OH

A >C=0 , (B) -CHO
C) -COOH (D) ~-OH
14" {ERR 39 ¢ '
A ‘ B)  ®E
(S C L. (D) THE
Which of ti'le following is a cryétalline solid ?
(A)  Diamond \ (B) Glass
- (€ Rubber _ _ (D)  All of these
15 bt TRt uTg s s g ¥, et ST
A I (B) T
©  wT 0 A FHE
Mineral from which metal is extracted, is called I
(A) Ore . (B) Gangue
(C) Slag | ' ' (D) none of these
Vo TR T sHi-97 37 T AT € 2
A) HCOOH B[ CH,COOH
€  C,H.COOH N (D) TH W H[E T
? Which of the following acids is found in Vinegar ?
&  HCoOH (B)  CH,COOH
- (C) CzHSCOOH - - (D) None of tﬁese

e




(A)  CH,COOH (B) HCOOH

(C)  CH,;-CH, - COOH - (D) CH,-CH (OH)-COOH

€) 3 D) 4

A) 0 B) 2
) 3 D) 4
19. FHAiEd 4 fFget AFH aqsres 2 & 7
/
(A)  [Ni(CN),J*" MCN)4 >
C)  [PdCl, 2" D) [NiCL, >

In which of the following tetrahedral geometry is found ?

(A)  [Ni(CN),]*- (B)  [PA(CN), ]~
(C) [PdCl,}* (D)  [NiClL, >




A% B) 6
ey 12 D) 7
In hcp unit cell, number of atoms is
A 9 B) 6
C) 12 ‘ D) 7
217 AT W e b
A ' CnH(zrmi).O. /(B‘f)f#CnH
() :CnH( on - ;2) o ' (D) CH
The general :t-'o‘rmula for Alkanal 1s ’ ' ' CL*L%FO |
(A) CoH(2n41) O 1 - (B). | CH,O C'HZT”@H
(©) Catl(2n-2 | , D) CnH2nO2' - C,‘ H 91 O

/ﬁm‘ﬁ%ﬁﬁﬁﬁq—w FieTe le-graehe R A g 2 0 L0
' _ i O (R

Cy BB |
(A) CI‘02 | ' B ‘l | (B) Mn02 | Q/
T Qo _ ‘ - - e oy
*, _(C) Fe,O, ' 2 D (D) V,0. | C HE;_ ole _
Which of the following oxides shows ferro-magnetism ? . L, 4
' - ' Chh~o Tt
A cro, . (B MnoO, '
.C | r’Zy’ D | C.Z-HS - C r“‘:,%
(C)  Fe,O O (D) V.0 R _
R C Hﬁ@ s ' | (:2 _ﬁ-?)f'? 1y D
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@A) FEsveg | (B)  HoTATEH
Q) - TR - _py SieTRe

Which one of the following is not an ore of zinc ?

A)  Zinc blende B) Calamine

(C)  Zincite ' D) Bauxite

/Qﬁ:‘ TEeTEd H | M Teelad 96T 7
(A) "x\ NH3 | . ‘ (B) * CH3 - NH2 |
\ ; - |

© (CHy), - NH R BT - (CHy)3~ N I

Which of the following is the strongest base ?

(A)  NH, ' . (B j'CH3 - NH,
(©)  (CHy),-NH (D)  (CHp,-N
/fé’f ool Qe S e Y _
Y REwEEE (B Wow ERs
0 WEAEERE 0 D) FTHIARE T
In galvanic cell, anode 1s
(A) Negative electrode ~ (B) Positive eleétrode |
(C) " Neutral electrode | (D) . None of these
267 e o @ oo & ford @i e Y 2 ‘
A IR . B T T
Q) TR | D) G-I

Which of the following is a colligative property of solution ?
- (A) Osmosis - (B) . Surface tension

(C)  Conductivity _ (D) Half-life period



(2,/  affera 1 g ®
AR) - HS,0; (B) H,SO,
(C) .H,SO; (D) H,SO.
Formula of oleum 1S
(A)  HyS,0, - ‘ B) H,SO,
(C)  HyS0, * (D) H,SO.

/W/ ST hT ATHATES (B) I hT ATHALS
C) WieaH sHirarss D) o siiee
Which of the folloWing oxides is reduced in blast furnace ? |
(A) Oxide of iron a . (B) Oxide of cdpper
| (C) Sodium 6£de B (D) 7Zinc oxide -

297 fordlt off Tl & o v ST X PR ATy
(A EhRT 5N W B FRW
Q)  REW 9R W ' D) TR IR W

Rate of reaction of any substance depends on o
(A) active méss ' - (B)  molecular Weight-
(C)  atomic weight ' (D)  equivalent weight

/M _OH - ' (B) - COOH
() -CHO | (D) >cCoOo
The active functional group of alcohol is

@ -OoH (B -COOH
(© -CcHO D Sco
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33.

Frsforad & § SH-a1 FU T 3 2

A o e B B 6 B) @ HEEF B §
© off R v @ E o) THawH
Which of the foillpwing statements is true ?
(A)  All ores are minerals ‘ o (B) - All minerals are ore

(C) = All alkalis are not bases - (D)  All of these

Wmﬁﬁ%ﬁﬁﬁmmmw@ﬁ?? '

_RC | .
sy R A

- Which of the following equations represents osmotic pressure ?

(A) P =CRT . (B) P‘=%
©) P=RTC- o) p=XT

(C) S : ' ’ (D) 6
Coordination number of Cr in Na, [Cr(C,0,), ] is
4 3 _ B 4

© 5 o D) 6
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- /w/agﬁwé?ﬁmwwm%'
B) T S o a7 H A Tl Bl §

©)  (A) X (B) A

D) T W HE T

Which of the following is the property of ideal solution ?

(A) h Obeys Raoult's law ’ - (B) Does not obey Raoult's law
(C)  Both (A) and (B) (D) None of these

ST oot | qERoT e § Fehet ud ©

A)  foem & A By Toemaes & 3]

<

(C) e o (D) R o

(A) solute molecules (B) solvent molecules
(C) coﬁlplex 10n | (D) . simple 1on
/3/ ~ COOH 79 & feTral UHAT 377 H YT STl & '
(A) -OH By~ - NH,
€) >CO. (D) -CHO

In addition to = COOH group, amino acid contains

(A) -OH (B) - NH,

(O, >co (o -CHO



/9’?. I TRV & U 16 H SHfeRdoTT o aicAran T S Al a @
AT Ee (B) HiteaH
© W& D) T
Other than oxygen in Group 16 of the periodic table, the el‘ement found 1s
(A) Sﬁlphur ‘ (B) ‘Sodium

(C)  Iron t (D) Nitrogen

38. Qe F R (n) SIS i Wl &

W0 B 1 N
7\

< 2z ~AD) 3

Number of pi (7'3)‘ bonds In aniline is - ' \ ’

c) 2 - | (D) 3‘

©) ER ' D) THITF

Which of the following is an amorphous solid ?

(A)  Graphite ' (B) Glass

(C)  Diamond = (D)  All of these
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|

| (A)  CH3COOH _AB~ CHyCHO
(C) C¢H.CHO (D) CH;-COOCH; |
. | . -
. ' | _C =
Which of the following undergoes Aldol condensation ? I( f ’
\A)  CH;COOH (B) .CH,CHO / |
| | . | l .
. (€@ CHCHO _ (D) CH,~ COOCH, A
41" S~ T A &
(A) C6H5 /(’B)/f 'CﬁHﬁ |
' (©)  CH,, - (D) ¥ 9 IS &
The molecular formula of benzene is
(A)  C.H. B) C.H,
(C) CcHys . | (D) ~none of these
W(R CO - R)wamaaqmmm/ﬂoﬁwﬁww@ \
g - e 10,
(A) W Toehigrel e B) WS
c) TRl T /(B‘j/ e

Ketone (R-CO - R') on reduction with LiAlH, /H,O gives

(A) Primary alcohol _ (B) Secondary alcohol

(C) Tertiary alcohol (D) Alkane




